H & 0l & AHS B Ml A
0BEHE =& 3 3 Luts|H A
A NS A EXNsXA
M JUASENSXEESHAY - SAIILLNEHX/RALEXRI)
el XSFHDIg+= (SH9 H2)
A 2N B G(B) - NRAY - BES 0 &y ol B o HIRS
NN 74,054,535 52,164,332 21,890,203
= 55,844,372 35,861,724 19,982,648
& 18,210, 163 16,302,608 1,907,555
S 74,064,535 52,164,332 21,890,203
z 55,844,372 35,861,724 19,982,648
< 18,210, 163 16,302,608 1,907,555
é%%%ﬂ%il%’éir(&% SAILLNHR/RALET 73,955,935 52,085,732 21,890,203
z 55,844,372 35,861,724 19,982,648
< 18,111,563 16,204,008 1,907,555
XAZHMDIIB = 70,578,684 48,656,732 21,921,952
z 55,844,372 35,861,724 19,982,648
< 14,734,312 12,795,008 1,939,304
lgsxes 73,000 77,000 24,000
201 Ler2 | 73,000 77,000 24,000
01 At22telt] 73,000 77,000 24,000
g et+=ZH| 61,000 65,000 24,000
OFXN=AELESSTY
Z& 16,000,000 16,000 20,000 24,000
FlE g2 5,000 10,000 25,000
201 fer= 3| 5,000 10,000 25,000
01 AtR2t2l] 5,000 10,000 A5,000
U=g=+g 5,000 10,000 25,000
OLEINESINI= IR = =l
Z& 5,000,000 5,000 10,000 5,000
ENRXNSE2SHE 64,000 84,000 £20,000
201 er2&| 64,000 84,000 £20,000
01 At2teltl 64,000 84,000 20,000
eS| 64,000 84,000 20,000
OS2EHAN= Z& 20,000,000 20,000 40,000 ~20,000
NI HEREEAY 35,283,876 13,332,924 21,950,952
z 31,655,817 11,673,169 19,982,648
< 3,628,059 1,659,755 1,968,304
403 THXI M SAH=01H 35,283,876 13,332,924 21,950,952
= 31,655,817 11,673,169 19,982,648
< 3,628,059 1,659,755 1,968,304
01 AXISHHA =2 & 35,283,876 13,332,924 21,950,952
OXNLENEENEZML(ZESY)
d&d 35,283,876,000& 35,283,876 13,332,924 21,950,952
= 31,655,817 11,673,169 19,982,648
[ 3,628,059 1,659,755 1,968,304
INESESEEER el 3,377,251 3,409,000 231,749
SIDILNEEES 2,307,874 2,334,000 126,126




D EXSXA A 1 EXNSX
D 2UHAEXNSKEAEHAY - SAIHAUN UK /PHUET
A SSAAR A P )
- M. G (SH) - HIRAIY - HAS 0ff &r2H Jl & o Hns2
XIS S0l 78,874 0 78,874
XSHINBEZ 78,874 0 78,874
TSR AL ERZ2(ZA 78,874 0 78,874
IS SEX20|A 2,229,000 2,334,000 105,000
[SHRIXIEE X 2,229,000 2,334,000 105,000
OEXIIGAXALEEBEZZ(RE)(2I1HA)
AR 2,229,000,0002 2,229,000 2,334,000 105,000
0I2HOIGH QIO H| K| & 4,377 10,000 N5,623
301 YtEEZ 4,377 10,000 N5,623
08 I2+2I=22| 04 H| 4,377 10,000 15,623
CIoH A E XS X BHSE D81 2t1=2 2| 04|
ZH 4,377,000 4,377 10,000 N5,623




